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BACHELOR OF COMMERCE
(GENERAL) [B.COM.(G)]

Term-End Examination

June, 2024
BCOE-143 : FUNDAMENTALS OF FINANCIAL
MANAGEMENT
Time : 3 Hours Maximum Marks : 100

Note : (i) Answer any five questions.

(it) All questions carry equal marks.

1.

(a) Explain the concept of Risk and Return. 10

(b) Explain time value of money with

examples. 10
XY Ltd. is considering investment in Machine Y
for replacement of existing Machine X having a
remaining life of 5 years, book value of
¥ 5,00,000 at present, salvage value NIL.

However, Machine X can be sold presently at

P.T.O.
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% 2,00,000. The Machine Y has useful life of
5 years, Cost ¥ 10,00,000 and has NIL salvage
value. The purchase of Machine Y to replace
Machine X will generate an annual cost savings
of ¥ 5,00,000 per annum over its useful life of
5 years. The company uses SLM of depreciation
and 1s subject to tax rate 30%. Using NPV
method, suggest the XY Ltd. as to whether it
should replace Machine X by Machine Y, if the

discount rate 1s 12%. 20

Define working capital. Explain the bases on

which 1t can be classified. 5+15

Define cost of capital with examples. Explain

its relevance in decision making. 10+10

Calculate operating leverage, financial leverage
and combined leverage with the following

information : 20

Sales 80,000 units



[3] BCOE-143

Selling price per unit 3 12.50
Variable cost 60%
Fixed costs 3 2,40,000
12% Debentures % 5,00,000
Tax Rate 40%

Explain with examples the Net Income and Net

Operating Income Approach to Capital

Structure. 20

Write short notes on the following : 10+10

(a) Motives of Cash Management

(b) Different sources of short-term finance

(a) Explain the concepts of Factoring and
Forfaiting. 10

(b) Describe the Baumol’s Model of Cash

Management. 10

Prepare an estimate of Net Working Capital

requirement for ABC Ltd. adding 10% for

P.T.O.
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contingencies from the information given

below : 20

Estimated cost per unit of product I 170

including :
Raw Materials % 80
Direct Labor % 30
Overheads % 60

(Exclusive of Depreciation)

Selling price T 200 per unit

Level of Activity per annum 104000 units
Raw Material in Stock 4 weeks

WIP (50% completion stage) 2 weeks
Finished goods in stock 4 weeks

Credit allowed by suppliers 4 weeks
Credit allowed to debtors 8 weeks

Lag in payment of wages 1.5 weeks

Cash at bank 1s expected to be ¥ 25,000.



10.
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You may assume that production is carried on
event throught the year (52 weeks) and wages
and overheads accrue similarly. All sales are on

credit basis.

Write explanatory notes on any two of the

following : 10+10

(a) MM-Irrelevance Approach of Dividend
Policy

(b) Optimal Capital Structure
(¢) Methods of Valuation of Shares

(d) Business Risk vs. Financial Risk

P.T.O.
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foafaT 10+10
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